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7. Assume, for France, that the domestic price of tea without international trade is higher than the world price of tea. This
suggests that
(A) France will export tea if international trade is allowed.
(B) France has an absolute advantage over other countries in producing tea.
(C) other countries have a comparative advantage over France in producing tea.
(D) French tea buyers will become worse off if international trade is allowed.

8. The supply and demand for rice are described by the following equations:
Supply: O, =5P-80_  Demand: O,= 200—2P_ The equilibrium price is

(A)$5 (B)$30 (C)$40 (D) $10

9. According to the 8™ question, the total surplus is
(A)600 (B) 1,000 (C)280 (D) 6,000

10. The production possibilities frontier simplifies a complex economy to high-light some basic but powerful ideas
including:

(A) scarcity & economic growth  (B) efficiency & economic growth
(C) trade-offs & opportunity cost (D) All of the above.

1. If the cross-price elasticity of demand is negative, then the two goods would be
(A) substitutes. (B) complements. (C) luxuries. (D) normal goods.
12. Which of the following policies would Keynes's followers support when an increase in business optimism shifts the
aggregate demand curve away from long-run equilibrium?
(A) decrease taxes (B) increase government expenditures
(C) increase the money supply. (D) None of the above is correct.

13. Unemployment would decrease and prices increase if

(A) aggregate demand shifted right. (B) aggregate demand shifted left. 4&753\?%3!5] @EP@

(C) aggregate supply shifted right. (D) aggregate supply shifted left.
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14. Assume that Aruba and Iceland can switch between producing coolers and producing radios at a constant rate.

Labor Hours Needed to Make 1
Cooler Radio
Aruba 2 5
Iceland 1 4

Aruba should specialize in the production of
(A) coolers and Iceland should specialize in the production of radios.
(B) radios and Iceland should specialize in the production of coolers.
(C) both goods and Iceland should specialize in the production of neither good.
(D) neither good and Iceland should specialize in the production of both goods.

15. Wages in excess of their equilibrium level help explain
(A) frictional but not structural unemployment. (B) structural but not frictional unemployment.
(C) frictional and structural unemployment. (D) neither frictional or structural unemployment.

16. The price of a Big Mac in Taiwan is NT$75.  The price in the USA is US$3.5. According to the purchasing power
parity, the predicted nominal exchange rate is

(A) US$1 =NT$21. (B)NTS$1=USS$1/21. (C) US$1=NT$30. (D) NT$1=US$1/30.

17. Ruth’s wages was NT$50,000 in 1931. CPI was 10 in 1931 and 200 in 2009. What would Ruth’s wages
NT$50,000 in 1931 be equivalent to in 2009 dollars?
(a) 1,000,000 (b) 500,000 (c)2,000,000 (d) 10,000,000

18. According to the quantity theory of money, if a country can produce zero rate of inflation and velocity is constant,
then the country’s money growth rate should
(A) be constant.  (B) equal the growth rate of output.  (C) be zero percent. (D) decrease 1%.
19. Which of the following would be considered a topic of study in macroeconomics?
(A) the effect of agricultural price support programs on the cotton industry.
(B) the effect on Taiwan steel producers of an import quota imposed on foreign steel
(C) the effect of an increasing inflation rate on national living standards.
(D) the effect of an increase in the price of imported coffee beans on the Taiwan electronics industry.

20. Opponents of active stabilization policy
(A) advocate a monetary policy designed to offset changes in the unemployment rate.
(B) argue that fiscal policy is unable to change aggregate demand or aggregate supply.
(C) believe that the political process creates lags in the implementation of fiscal policy.
(D) None of the above is correct.
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